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MCQ (Single Correct Answer)
The value of

cos? (%)cos (%ﬁ)+sin3 (%)sin (%’r)

is:
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MCQ (Single Correct Answer)

ifz =Y (-1)"tan>"@andy = 3 cos?"d

n=0 n=0

for0<@< %,then:

O x(1+y)=1
O y-%=1
O ya+x)=1
O x(1-y)=1

Ans -B
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MCQ (Single Correct Answer)

If the equation cos? 8 + sin 8 + A = 0 has real solutions for #, then X lies in the interval :

O [-1,—3]

Ans -D
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MCQ (Single Correct Answer)

If L =sin?( %) - sin?(%) and

M= cosz(%) -sinz(%),then :

Ans -B
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MCQ (Single Correct Answer)

Forany 8 € (%, %),the expression
3(cos @ — sin §)*+6(sin @ + cos 8)% + 4sin®
equals :

O 13 - 4 cos20 + 6sin20cos2
© 13- 4cost9
G 13 - 4 cos26 + 6cos26

© 13 - 4 cos?d + 2sin20cos20

Ans -B
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MCQ (Single Correct Answer)

If 0<x< % then the number of values of x for which sin x — sin 2x+sin3x =0, is:
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MCQ (Single Correct Answer)
The sum of all values of 8 € (0, %) satisfying
sin? 26 + cos* 20 = 3 is -
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MCQ (Single Correct Answer)

The value of cos 55. cos 57 .. . .. COs 317 - Sin 5y is-
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MCQ (Single Correct Answer)

The maximum value of 3cosf + 5sin (9 — %) for any real value of @ is :
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If cos(ax + B) =3/5,sin (a-B) =5/13and 0 < o, B < 7, then tan(2) is equal to :

O 21/16
0 63/52
© 33/52
0 63/16

Ans -D
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MCQ (Single Correct Answer)

The value of cos?10° - cos10°cos50° + cos?50° is

o %+cos20°
(s
0O 2(1+cos20°)

(0]

Ans -B
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MCQ (Single Correct Answer)
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Let S = {0 € [-27, 27] : 2c0s26 + 3sinf = 0}. Then the sum of the elements of S is
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MCQ (Single Correct Answer)

The value of sin 10° sin30° sin50° sin70° is -
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MCQ (Single Correct Answer)

The number of solutions of the equation

4

1 + sin x=c0323x,:c S [—5—“ 5—”} is:
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MCQ (Single Correct Answer)
The equation y = sinx sin (x + 2) — sin? (x + 1) represents a straight line lying in :

O first, second and fourth quadrants
© first, third and fourth quadrants
G second and third quadrants only

Q third and fourth quadrants only



Ans -D
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MCQ (Single Correct Answer)

If [x] denotes the greatest integer < x, then the system of linear equations [sin &]x + [-cosfly = 0, [cotf

Jx+y=0

27

@ has a unique solution if 6 € (%, T) and have infinitely many solutions if § € (Tr, —)

G have infinitely many solutions if 8 € %,

wfy

) and has a unique solution if 6 € (, IT)
) U (m )

U (m %)

[NIE

27

G have infinitely many solutions if @ (
)

© has a unique solution if € (7,

Ans - B



